
In[1]:= Σ0 = IdentityMatrix@2D; Σ1 = 880, 1<, 81, 0<<;

Σ2 = 880, -I<, 8I, 0<<; Σ3 = 881, 0<, 80, -1<<;

In[2]:= Σ@k_D :=

Σ0 k � 0

Σ1 k � 1

Σ2 k � 2

Σ3 k � 3

In[3]:= Γ@k_D := 88880, 0<, 80, 0<<, Σ@kD<, 8-Σ@kD, 880, 0<, 80, 0<<<< �� ArrayFlatten

In[4]:= Table@Γ@iD �� MatrixForm, 8i, 0, 3<D �� TableForm

Out[4]//TableForm=

0 0 1 0

0 0 0 1

-1 0 0 0

0 -1 0 0

0 0 0 1

0 0 1 0

0 -1 0 0

-1 0 0 0

0 0 0 -ä

0 0 ä 0

0 ä 0 0

-ä 0 0 0

0 0 1 0

0 0 0 -1

-1 0 0 0

0 1 0 0

In[5]:= I Γ@0D.Γ@1D.Γ@2D.Γ@3D �� MatrixForm

Out[5]//MatrixForm=

-1 0 0 0

0 -1 0 0

0 0 -1 0

0 0 0 -1
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